CHM152 Quiz8b  25Pts Spring 2013 Name:
***¥*SHOW ALL WORK TO RECEIVE CREDIT****

1. (6 Pts) The solubility product for chromum(III) fluonde 1s K, = 6.6 x 10 " What is the molar solubility of
chrominm(IIT) fluoride?

2. (6 Pts) Calculate the silver ion concentration in a saturated solution of silver(I) carbonate (K, = 8.1 x 107'%).

3. (6 Pts) The solubility of lead(Il) iodide is 0.064 g/100 mL at 20°C. What is the solubility product for lead(Il)
iodide? Molar Masses: Pb 207.2,1126.9.

4. (7Pts) Will a precipitate of magnesium fluoride form when 300. mL of 1.1 x 10 M MgCl, are added to 500. mL
of 1.2 x 10 M NaF? [Ksp (MgE2) =6.9 x 10°]. Show calculations to support your answer.
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1. (7Pts) Willa prec1p1tate of magnesium fluoride form when 300. mL of 1.1 x 10~ M MgCl, are added to 500.
mL of 1.2 x 107 M NaF? [K,, (MgF,)=6.9 x 10°]. Show calculatlons to support your answer.
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2. (6 Pts) The solubility of lead(IT) iodide is 0.064 g/100 mL at 20°C. What is the solublllty product for lead(Il)
iodide? Molar Masses: Pb 207 2,1126.9.

S
- { = /(7 T
PLI.ico & Fi*Teul }“5,@ /L- ] .
- -\7 i
; M - AlD
0.064g ML | rol 24,0 “n [/ 37)‘&3 [b) 7§ %40
O O A L EEE A
) L /L/C/,_k“'g //,,. 0—5’
[)UL\lJ!’ - /4 3’.'; A,’() ’/./ 5/»)?’" }--, )(/
' -7 \ o
Ty - 78 X107 M
L{_\‘L N, — Q, ” 7‘8
3. (6 Pts) The solubility product for chromium(I1l) fluoride is Ky, = 6.6 x 10™!.  What is the molar solubility of
chromium(II) fluoride? g v
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4. (6 Pts) Calculate the silver ion concentration m a saturated solution of silver(l) carbonate (K, = 8.1 10713,
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